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e T i T stES 31| Rig | SREME
TBSE | dsereereeneees0122 | & | MR 81. 00
o Wk | dsereeneeneennd0X | % | Hik 80. 00
g;%ﬁ;gﬁ , [EEE | sevmnmnm | & | ## 80. 00
) SHE | dseereereree2st | & | R 80. 00
ITHFE Sk kkkkxrkkxk%)543 %@ AR e 79. 00
ZT1E 4 snsknnnnknxnx12] & Wk 78. 00
%% Srerrmreeren1520 | £ | R 81, 80
Buiis | dsereereereenn0925 | & | i 31, 00
BRE B | dsemneenreeree0320 | & | MK 80. 90
W | dsermereereenn002X | & | ik 30, 60
GTHRL | dsereereeneee90d6 | % | WUE 80. 00
e Semremreenen 124 | £ | R 79. 80
BRI | dsenererneennnl02 | % | ZEK 79. 00
. . B E W 5% %k xnkxxx]12)0 & Mk 79. 00
ﬂfjﬂl@ﬁf;ﬁ% ; B A 45%sxxnnrrnnis(34] 4 Pk 78. 90
N %) - 2R 45%xkxnrnixrx394] 4 W 78. 10
WD ZE 455w xkxxxkxxx0]164 5% Pk 77.50
MefE B 5%k xkkxnkxxx42)5 & Wk 77. 30
IR 455w xkxxxkxxx(00206 & Mk 77.30
B % 5% wkwkknknxkx46)5 & Wk 77.20
A 45%kxkkkkxxx%x%0120 %@ Xk 77.00
&G 4%k kkkkknkkd))Y %@ Wk 76.50
B I In! %@ Mk 76.50
== 45k korsknkkxkx26)3 & Pk 76. 30
ik it & 45 kkksnnxxxxx2135 2 b 85.50
ﬁ"ﬁﬁﬂ 45k kkkkskkknkkk]524 % /H:]jﬁ 79. 80
- 4% sskskskkskkkkx()365 %@ Mk 79.00
%;ﬁlﬂ 45 %%k sk sk sk skskskskkk 3302 %@ /H:)jgé 78.00
_E{E%Z 4% sskskskskkkkkkx]518 = /H:)j;’{ 77.20
AT & 45 %k kkkkkkkx5545 %@ Wk 77.00
U 45% %%k xxxkx%xx0623 & 3 76. 00
Bt 4%k skkkkkkkkx)835 = Mk 76.00
7 vb B JE A 45 %%k skkkskkkkk(9D 3 %@ Wk 75.50
(8 R 2 42 ) 6 FER 45##xxrkknxxx%(296 # Rk 75.00
#0) EHH 4 5%k skknnkx (054X 5% Wk 75.00
/Zf}i}* 45% s skskskskkkkkkx]1248 %@ /H:]jﬁ 75.00
BLoe 45xsxxkxxkxxxx3624 %@ ik 74. 00
B 1 9 45 %%k ks k sk sk sk skkk 3304 %@ Hk 74.00
ITYE 45%kxkskkkrnksx()04] %@ Xk 73.70
%%ﬂ 45 %%k kkkkkkkk(643 %@ /&)j% 73.00
2= i 3% 4%tk kkkkx5868 % Xk 73.00
) AR 45k sksknskkkkkkksk]224 %@ Xk 73. 00
T 4 5% %%k kkkkkkk 3849 %@ Wk 73.00
iﬁ_{)&/% e mme %@ /H:)j;’{ 83.90
?}E@jﬁﬁ 45 %k skskskskskkkk3()27] %@ /&)j% 83.60
JEE 4% sskskskkskkskkx()(025 % Xk 80. 40
%]J;Fy@g_%&mj XE‘/QS’J 45 xsksknkknkkxxx)]] % /X)jﬁ 80.10
(BRI ZIEE [ 3 % &40 45wk xn k%654 Z Wk 79. 30
%) 0 A5% % xxkkxnknxx4))] & Mk 79. 20
%iﬁé sy %@ /X}jﬁ 79.10
wHE 45%sskskskkkkkkkx(]18( %@ Mk 79.00
?I@E 4%k skskskkkkkkk%x5006 %@ /H:)jﬁ 79.00
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T R sHHES (M| Rk | SRR
27 5y 3B B 45 xkkkkkkxkkkkx3)68 e Wk 66. 50
(BRBmES [ 1 RF 45xxxxrrxrrsrx(030 5 ik 59. 00
%0 AT 45xnwxrnxrnxrx (51X k3 Pk 58. 50
VAL R B4 45k kxkskkkknkkk]3)() % Hk 77.40
(R ZIFE=S [ 1 25 45xknnnnninknxd])5 i | AR 77.20
43() ﬁ@j{g})ﬁi 455 kkkkskkknnkk (92X % ,&)}% 76. 60
}%_{% 45%ssskskskkkkkxx(96] %@ ,H:)j% 77. 00
S 45%xxxkxxxxx%%312X & PaE 70. 00
@J:}:i#@%ﬁ”ﬁj %3@‘; 45 %5k skskkkkkkk) ()24 %@ /X)jﬁ 68. 00
( B2 B 20 0T 452 4 2 x| #& 455kkxkskskkknkkk()9)) % Bk 67. 60
%0 EME 45k xxnrxxrxxx2501 & 3 66. 00
}%%}( 45k kxkkkkknkkk5824 % ,&)}% 65. 00
g&ij%'} 4% skskskskskskkkkkd (8 %@ ,H:)j% 65. 00
{f}%ﬁ'ﬂ— 45kkxkkkkknkkk()957 = /)’()j% 74.10
ZEA N = /X)j% 72.50
?}ﬂ_/}ﬁf 45k kxkskkknnkskk()(]3 = ,&)}% 72. 00
¥ KT H 5 § 3wk x 081X L Kk 71. 50
(8 R 2 42 ) 3 Rt 45##xxrkknxxxx]539 5 Wk 70. 60
#0) & 4T IR 5% sk xxkxxxx%x1243 58 ik 69. 00
%ﬁ;*ﬁ;‘(ﬁ 45%kkkkskkkknkk()59X = ,H_—)j% 67.50
j’ﬁ/% Thkkskkkkxkkrkx()3]5 %3 /X)jﬁ 67.50
;ﬁ;jjﬁﬁ% 45xskxxkrkkkxs%x3034 %j /X)j% 67.50
|5 45 %%k skkskskskkkk]8]3 = /X)j% 76. 00
_ s ﬁ‘%ﬁpﬁ 455 kkkkkkknkkk3543 % /)’()j% 73.00
gﬁ%%ﬁ;g;? ) F,iﬁff%f%:— 4% sskskskskkkkkkx1926 %@ /X)j% 72. 00
% A5% ket kkkk%034X % Xk 70.00
F5H 455 kkkskskknnkkk()2]3 = Hik 68. 00
?%ﬁ@% 45xxxkskkkxnkskx()026 j( ,&ﬁ% 82.10
?E}%%ﬁ §3kskkskkskkskkskkk]TDE % }';'])i% 81.90
& 45k kxkkkkknksx]T26 %@ Xk 81.50
?/J\ﬁi 45xskxxkrnkrxsk()()22 % ,&)}% 80. 80
ﬁp/j\j%'; 45 %%k sk sk skskskskkk ()42 () %@ /X)j% 80. 00
&g 45 %%k ok xxkokxx 3024 & Wk 79. 00
X /N vE 45xsxxxskxxx%xx730X %@ Wk 79. 00
= 45%xsnknnnx k%362 58 ik 79. 00
H IR A5%%xnkxxnkxx3345 & Pk 78.50
KK 5%k wnkkxnknxx)])] 58 ik 78.50
Tokd | dserereererees002] | % | HiE 78. 20
/J\%ﬁl%X%(Ufﬁ {288 A5k kkkxnkkx%x]724 % Mk 78.10
(H%)ﬂ?ﬂﬁﬁﬁ?ﬂ 26 /%:Rf{,\ 45xskxxskxxkrxsx()306 % jXﬁlﬁ 78. 00
ik) %%% 45k kkkkskkknkkkd 504 %@ /X)j% 78. 00
JE & 45k kwkkskknnkkk)]4] %@ Xk 78. 00
B2k 45xkxxxxxxx%x%x%182( % Wik 78. 00
BN E 45%x k%% x%%%*%%%1126 % e 78. 00
%ﬁi 4% skskskskkkkkkx()329 %@ ,H:)j;’é 77. 80
E‘;Q\Iﬁ{ 45kkxkskkknnkkk) ()29 % /X)j% 77. 80
LA 45xxxxxxsrrxxx1823 & ik 77.70
ﬁ%% 4% sskskkkkkkkx)546 %@ /X)j% 77. 60
A A5% % knkkxnknxx3245 & A3 77.50
H IG5 43xkxkkkkrnkkx3066 % 18 7% 77. 40
# B A5% kx5 %k%%%%2527 %@ Wk 77.00
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=R 45k kxkkkkknkkx)563 %@ Xk 77.00
F| - Fh 45% sk kkkk%%%09]15 = Wk 77.00
{4 % A5xkxkkkkxxxx%24)3 % Wik 76. 60
EEZ 455 skskskkkkkkkx(36( %@ Mk 76. 60
P 4 45%kxkkkxkxxkx]8)8 % Wik 76.50
B A 455k x%x%%%()326 % Hik 76.50
ZROR 45xkxkkkkknk®kx)T)T %@ ik 76.50
2 75 ] 45% sk kkkkx%x%x2(025 % e 76.00
KA A 45%kxkskkkknkkk383() k] Wk 76. 00
TR A5xkxkkkkxxxx%]506 %@ Hik 76. 00
8 E 4R 45%sskskkskkkkkkx4841 %@ Mk 76. 00
o &k S)xkkkkxkrrkkx(022 % Y3 75. 80
2T 45 % skskskskkkkkk%x3329 %@ Mk 75.80
a4 St nm = Wk 75. 60
B =R 4%k kkkkkkkk5845 %@ Wk 75.60
fa] A& & 45xxxkkkxxxxx%x(054] % Bk 75.50
% E S3skkkknkkkkkxx()()29 %@ Xk 75.10
YN 45%xxxkxxxkxx%60)8 & P& 75. 00
IR %% 45k kkkkkkrrnks] 33X k] Wk 75.00
pugad A5xkkkkkkxxx%%6665 % Hik 75.00
X 14 & 4% ssskskskkkkkkx()526 %@ Hk 75.00
= W 45xxxkkkxxxxx%(860 % e 75. 00
T4 45wk snsnnknknxx2) % Pk 74. 80
A 45xxxkkkxxxxx%x3024 %@ Wk 74. 80
INESE 4 ‘E‘:{;% 45 %%k kkkkkkkk3628 %@ Hk 74.50
(H%)ﬂ%(wﬁjﬁ%fj 26 /%\“Xﬂﬂ 45kkxkkkkkkkk%)520 % ,H_-)j% 74.50
%) HE 45xkxkskkrrnxskx()025 %@ Xk 74.50
2B At 45% sk kkk%x%%%4526 % Wik 74.50
& 45% k% k%kk%k%%%6382 %@ Wk 74.50
Z1E A5xxxkkkkxxxx%4804 %@ e 74. 50
HEF 45k kxkskkkkxxsx()565 %@ Wk 74.50
EH Y S ams % Wik 74.00
KR 45%sskskskkkkkkkx)]143 %@ Mk 74.00
E A5xkkkkkkxkkx%x35)7 %@ Wk 74. 00
EHE 45 %5k kkkkkk()544 %@ Mk 74. 00
F AR Glassssxxrrssx(023 % Wk 74. 00
g S3xxxxxxxxxx%x%x1727 %@ Xk 73.80
XA 45xkxkkkxrxx%%2]126 % Wik 73. 80
25 K 4% skskskskkkkkkx)D()5 %@ Hk 73.80
Vi S A5xkxkkkkxxxx%48)8 % Hik 73.60
22 55 45xkxxkkxxx%x%(0620 %@ Hk 73.50
;%!E;}E% 45k xkxkkkrkxkxdT)] % /Xﬁ% 73.50
g A5k % xnkkxnknxx)])7] & Pk 73.00
7 4 5%k wkkwk ok xkx6846 & Wk 73.00
RER | 36eeerrerreene00l0 | B Kk 73. 00
Fhug K 45% sk skkkkkkkx%x240] % Wik 73.00
JE 4 44 snkninkxnk 5924 4 3 73.00
P 3k 45wk k)50 ] 54 Mk 72.80
P | dSrerrereerenidsds | & | ik 72. 80
e K A4 sk xnknxnknxx0363 & Wk 72. 60
¥ 5%k xxkkxnkxxx5547 & &3 72.50
BEEH | dowererrrrrrendsos | % | WK 72,50




FA 72 BT DTSR 2 /A % 20 24 e g J S i Bl A A Bl i A 44 B

T T T——
e T i T stES 31| Rig | SREME

INFIE S MEE 45 % sknkknkknkk3()24 % Mk 72.50
(A snEs | 2° = ik ik 45xxkmnnsrnnnrx(621] S ik 72. 10
J& B AR 45 xkkkkkkxkkxx30]8 k2 Hk 81.00

Hx 5 455k 5x5x%%%%%(524 %@ Wk 75.50

Eq’i;’]:j( SOk kskksknskkskk k806D % j:%’{ﬁf& 75.50

& B8 45%xkxxxkxxxxx%x096() & Pk 75.00

EL 9sd 45k nkkknx) 444 58 M 75.00

S | Aseereerrenenn3dt | & | Rk 73, 50

R 5%k knkkxnkkxx])]8 L Mk 73.50

LB | dserereereeeeell2s | % | M 73. 00

Zug 4 5% xkwnrnnknxnx] (27 5% Pk 72.50

B | ASeerrereerenn652] | & | ik 71, 90

iRl 45 xxxxkkkxxxxx552) %@ Y3 71.00

] A, 3 4 5%k ko wknxkx)T48 5% Wk 69.50

WF B A5%xkxxxkxxxx()]88 & Wk 69. 50

Y 455k kkknxxxx%%2267) & Mk 69.50

¥ 37 48 42 wxnnnnnnn 3944 5 Wk 69. 50

2 H 4B 53k xxkkxrkxxx%5426 % =03 69. 00

AR5 455 nxnxnnrrxxx(916 E ik 69. 00

ﬁ‘-éﬁk S3kkkkkkxkxkxx4]12] e /Xﬁ% 68.50

B hdg | dserrerreereendnzs | & | M 68. 50

P H 4 5%k ko xkkxkx()6) 3 & ik 68. 50

Wl | ASeereeneereeedsdl | & | WK 68. 00

= A5xxxxxxxxxxx%(0746 %@ Bk 67.50

T H R 45xkkxkknkkxxx5338 = Lk 67.50

B db S3kkkkxkkkrrkxx4)]8 = e 67.50

/J\'l’}'"&#k#?ﬂfﬁ é/]\ﬁn‘ Q5% kxkkkkknnkk)TDT ﬁ «H_‘)i% 67. 00
(BRAZFEEs | 17 g 4 5% % xnssnkxxxx)]8) 4 Tk 66.50
) EH A& 45xxnannsknsrx(924 58 Nk 66. 00
F &l & 53k kkkxkkkkkxx]5]5 k] =k 66. 00

T 45 xkkkkkkxnrnx]148 %@ Xk 65.50

ﬁﬁé 45 xsksknskskkkkkkk]1420 ﬁ( /X)j% 65. 50

HEFH 45xxxxxxnnnnsx (92X 5y Wk 65.00

i W 455k x5k xxx%%%%%(0449 %@ Wk 65.00

| Fk IR 45%xxxxx%%%%%%(048 % e 65. 00

B& £ A5xxxkkkkxxxx%x]14)5 % Bk 65.00

] Ha > A5xxxkkkkxxxx%4024 % Wik 65. 00

JE] B 43k x%x%x%(0946 % Wk 65.00

hE = S3xxxxxxxxxxx%x(022 % 2 H ik 64.50

%’%’;ﬁ% 4% sskskskskkkkkkxd ()28 %@ /H:)j;’{ 64. 50

HxE 45%kxkkkkrxx%x%]18672 %@ Xk 64. 50

x* H & 45k kxkkkkrnkskk3IG)] %@ Wk 64. 00

Eﬁj‘?}% 45k kkkkskkknkkk]525 %@ /H:)j;’é 64.00

Ik 45 xkkkskskkxnnnkx)]48 %@ H ik 64. 00

WED 45% sk kkkkk%%0428 % Wik 64. 00

% X ER 45xskxxkxxkrxsx]82( % e 64. 00

5K A A 45%xxx %% %% %*%%%3966 % e 64. 00

H E 4R 45xxxkkkkxxxxx022X % Wk 63.50

EEE 45xxxkkkkxxxx%x(62X % e 63.50

ﬁ@_\FE\ S3skkkkxkkkkkxx] 340 %@ ,H:)j;’é 63. 50

B A& 4 5% xkwkknknxkx4827 & Mk 63.50

% & 45k kkkkkkkrnxs()3Y k] Wk 63.50

295 45k kxkkkkknk%%x)D)E %@ Wk 63.30
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B =R 45%kxkkkkkxx%%58)0 % Xk 85. 00
wF 4w xxknxxnknxx(026 & Wk 81.50
BEiFat 4%k kkkkkkkk%x29)7] %@ Hk 81.00
;{U%fﬁ 45k kxkkkkknkkk()265 % /X)j% 80. 50
B/NF 4% skskskskkkkkkx()628 %@ Mk 80. 50
A Iy % e 80. 00
E ARG 45 %kt kkkkk 352X %@ Mk 79.50
2 h K 5%k xnkkxxkkxx)]1600 58 Mk 79. 50
ART 455k xxxx%%%%%%5528 %@ Wk 79. 50
e 45k kxkkkknnkkk()326 % Wik 78. 50
ERE 4% skskskkkkkkkx(527] %@ Mk 78.50
# R 4 A5k xxkkxxknxx0()() 58 ik 77.50
o X 45xkxkkkkknkskk33)3 %@ Wk 76.50
(J%ﬁiﬂf};ﬁﬂ%ﬁmﬁ g A9 % A5xxxkkkkxxx%%6626 % Hik 76. 50
v %) - a3 4% sskskskskkkkkkx)4)8 %@ Xk 76.00
JE G 1Y 45xsxxskxxkrxxx()(25 % e 76. 00
%;’F){%ﬁ 45xsxxxxxxxx%x%x()023 %@ /X)j;{ 75.50
JE R 45% skttt k%x%%]1629 % e 75.50
7‘]"55( SOxxxxxxxx%x%x%%958() %@ j_—_%{]j;’% 75. 00
MAF 2o 455k kk%x%%x4(029 % Hik 75.00
& I 45 % skskskskkkkkkk]1224 %@ Mk 74.50
2 iR 45%kxkkkxxxx%%(0)046 %@ Hik 74. 00
EEAE 45k kxkkkkknkskk]D)S %@ Wk 73.50
A AR 45% sk kkkkkkkx%x53)3 % Bk 73.50
Z 55 4% skskskskkkkkkx5]128 %@ Mk 73.50
FE 45xskxxkrrkrxsx()303 % Wik 73.50
VLEE ] 4% skskskskskskkkk()()25 %@ Mk 73.50
E;E;rﬁ 45%skxxkkkkkxsx%x(0)0 %@ ,&)ﬁ 73.50
%%‘ 45 %%k kkkkkkk3624 %@ /H:)j;’é 71. 60
2 M 45% sk kkkk%x%%xTT89 % e 70.50
S5l 45k kxkkkkrnkkx(] 83 %@ Xk 70. 00
NS 2 %X | dsessresereen00l] | B | Bk 69. 00
(B2 5 2 ) 42 4 3 H = A 5% xkwnknknxnx4627 5% Wk 68. 50
) FHILT Fhxxxxxxxxxxxx()028 % Wk 68. 00
E Peerereererees95 | % | Wk 67. 50
R Ik 45 sksssnnrrxx24(01 & Tk 63.50
JE| o 75 A5xkxx ks xxk%x%3624 %@ Wk 63.00
AV 5%k wnkkxnknxx()7)3 & Wk 79. 00
BEEA 5% xkwnnnknxnx()326 & Wk 75.50
FER | doerenererernnddd | & | WK 75. 00
FIEA | doeesnenereened0lX | B | MK 75. 00
FHE 5%k wnkkxnknxx43)4 58 ik 74. 00
Viaih | dsereereereenn1324 | & | Wk 74,00
INEEE AR T I H A 5%k xrkkxxkkxx](08 58 Wk 72.00
(RARES | 5 [ i | Aseeerseer | J | i 7100
#0) KU B 45xnxnnnnnnxkx0766 Y Pk 71. 00
Bk | dserreerrennen002s | & | K 71,00
% 4 45 %% xwkkxnknxx 3314 L Mk 70. 00
Y 45xsxxxkxxx%xx%1020 %@ WAL TR 70. 00
hE SSererenerenen0d20 | % | UK 69. 00
BT | ASeweereeenenn2023 | % | A 69. 00
W 53wk xnknxxk30)() 58 ik 69. 00
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44 43%xxxxxx%*%%%%((015 = Wk 74.50
EF A 4 5% kowkkokkknkkk)T45 % M 71. 80
T 45k kxkkkkkxkk%x]1204 %@ ek 71.70
¥ B 5 45% %% %% %% %**%*%% (888 % Wk 70. 30
s ) BEN S2xxxxxxxxxxxx7(021 % Wk 69. 60
(/JH;—E]E‘%/(J?%H;;;J . Hik 45xkxxkkxkkxx%x()025 °q Mk 69.50
&l %) E= ot 5 3skskkkkkskkkkkk)]D) % w3 69. 00
E e 45%xxxx%%%%%%%7728 %@ Wk 68. 50
ﬁ%;ﬁé 45k xkxkrkrkrkx] 52X % «&ﬁlﬁ 68.10
x| £ #e 45%xxkkkknxxk%()(0)3 % ek 68.10
B i 4%k xxkxxkxx%x%2]127 % Bk 68.10
ik 45%kxkkkkkxkk*x3543 % Wk 68. 00
# K 455k xkx%%%] 23X k] Mk 85.60
) & 45xkxxxkxkkxxx()023 % 1 7% 75.00
EX 45xkknkknkkkkk§H49 %@ ik 73.00
NI Dlskxxxkkkxxxx361X = e 72.50
o5 45%xxxxx%%%%%%4966 %@ Xk 72.00
]K/Zj:\g?i 45k xkxkrkrkxkx]D6X %@ /lf)ﬁ 71.00
EE K 45xxxkskkxxxxx%x(0471 k] ek 71.00
X 3 B 45%xxxx%%%*%%%%1749 % Wk 71.00
& A 45xsknkknkknkk] (24 %@ Mk 70. 50
2@)}}]@ §3kkkkkxkxkkxxd]5X %j «&ﬁ% 70. 50
% 45xxxxxxxxxxx%(030 k] Wk 69. 80
N ) Ji% 45xkknkknkknkk)qd)) % ek 69. 50
Ejgjmﬁgfémﬁ g %{:;—; 43skwkkkkknkkkk]D)] %@ TI—E])@’% 69. 00
) FoL R S3xkkkxkkkkkxx)) 37 = W HE 68. 50
;‘(]J}/?\ﬁﬁ 4% kkxkkxkxkxx2]129 ﬁ( /H:JJ‘% 68. 10
2R AG 45%xxxxx%%%%%%61 37 = Wk 67.50
% 45xkxkkkkxkx%%3378 k] ek 67.50
18 # 45%x k%% %% %%*%%%72)8 % Wk 67.10
,gj/!é/i 45%kxkkkkkxkkx()957 %] /H:ﬁj’é 67. 00
= FF| A5xxxkkkkxxxx%] 885 % Wik 66. 80
BLEE 7 45xkxxkkxkkxx%x2147 %@ Mk 66. 00
kAT S3xxxxxxxxx%x%x%x(0924 % Y3 66. 00
N 45xkxxkkxkkxx%x45)3 %@ Hk 66. 00
e 45xkxxkkxkkxxx()(34 = ek 66. 00
g 45 xkxkkkkxkkx%x0]27 %@ Wk 66. 00
G S3xxxxxxxxxx%xx(0714 = Wk 66. 00
E= 45 %k knkknkknkk()()24 %@ ik 81. 00
Hid 45% %% %% %% %*%%%%()927 % Wk 79. 00
KEE 455 sk xxxxx%%%%5841 %@ Xk 78. 00
x| & % 44% 55555 %*%%%%%372] % Wk 77.50
e i %) 3% Slskkkknkskkkkxx8§620 %@ E= 93 77. 00
T}%;%g}g;?%ﬁ ; = EE 45xkxxkkxkkxx%x43)5 % ik 77.00
) B 45xxxkkkkxxxx%()5]13 k] 3 72.50
=R 45 xxkkkknxxkk()(0]2 = ek 72. 00
ﬁﬂ‘@:]*é 45%kxkkkkknkskx()325 % jXﬁ% 71.50
I+ P 455k k%% %% %% %%%722] %@ Wk 71. 50
S 45 %k kwkknkkkkk 3824 %@ ek 71.50
F# 45xkkxkkxkxxxx30)() % «H_‘?i% 71. 50




